L
(9,9)
2
(9,1)
1) 4-6
(r = -0.18)
2) 7-9

(r

(9.9)
1
(r = 0.60)
(9.9)
(Blake and Mouton, 1964)
(9.1)
2
(9,1)
(9,1)
01
= -0.27)
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C (9,1)
001
(r = -0.22)
(9,1)
60.4%
31-40 61.2%
6 37.1%
6
(9,1)
3 (1,9)
3
(1,9)
4-6 (1,9)
001
7-9 (1,9)
(r = 0.08)
(1,9)
01
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(1,9)
1) 60.4%
2) 31-40" “ 61.2%"
N , N 1
7 (1,9)
(5,5) 001
(r = 0.56) (1,9)
(5,5) (5,5)
(1,9)
(1,9)
1 il |2 1
4" (9+9)
!
(9+9)
i J

(9+9)
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5 (1,1)
A 5
(1,1)
7 (1,1)
(OPP)
001 (r = 0.71)
(9,9) 001 (r = -0.70)
1, (OPP)
(1,1)
2 (9,9)
(1,1)
(9.9)
(1,1)
(OPP) (1,1)
6 (5,5)



7o (OPP)
7
(OPP)
" . *1
7 (OPP)
(1,1)
(r =0.71)
001 (r = -0.58)
1 (1,1)
(OPP)
2 (9,9)
(OPP)
(9,9)
(OPP)
(1,1) (OPP)
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